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Passage:

G- el Terst ufdear vyl fameuere Ra: Ifrdar 3w o fred |

YRR 28 IRHyadsy TRy sraa: PaefdmaAyriid @l fder: | 98 Jqi: iR, 9Ter, 91, SaRESFAge 3 7y Sy Raer-=d ik, sfa:, 9 sy
MirFaeH: T3 Fod S 37 SR | o[ 19 37 SaRfayrir afdd 9 wier: g

AT, fq: oIS YadaRgad: GHITN: U8 SNagQeR: I IO JalH - SRATS KRG SIaxae!, XiGralad], 7 Hacwe, Tdamry Haxad! Yida: | Aferaead Aaygd: IuFve: Hafd | TP
Tgd Tl vaf<l Sufive: | Ui e I gaH Wi | iuew arandiier el Td fagarifiues i SufH el diew TR SRgaen: sragget: 3fd @it 3= SEitan|

Q.No: 1 XIfE:, sioia:, 947 3afe Wiawuesr: $= Igfar?

A oI

B TETHT MR
C YO

D STATGIERTT|

Correct Ans : A
Subject : Sanskrit Bhasha 02

Passage:
Habe:- SrelifeiRae TRt Ufdeat Ui b edrerd e Sfdary S feran ferad|

YRS €3Y IHfeayadsy uRspqy Sraan: Riaefdaayr g @ fadem<: | §d: 3qMy: i, wer, a1, SEREEHHAST 31 aay Sufedy Haem=< ufds:, siea:, i 3@
Mifipucd: T B Hadaar sk SEar | 3 Td o7 SRR R @ Wer: |

o, ofct: YT TaTerGE: THIMN: ¥E SHaHer: § IO JaIH - eI Tfaiva SHaxe), WfkiRarae!], 7 Hawe, Jabrey Hawden! e | Mieraeoe Had: Jufve: Hafl | der
Teg adl: Yaf Iufve: | Tt e SEu ga i | faues arerdier siefa T faRgardifiues i Suvelifan diew s SRgae: saxast: 3 Witer 39 Safiay|

Q.No: 2 KRGS Ha: FT: Haf ?

A afger:|

B Iufwe: |

C fRgaFr|
D ST |

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:
G- SHefafe mei=t ufd@r wumi fwerrasR: Ifdary 3w R frad|

YRS 2Dy AMfedyadery uiendy srgan: Raefadayryriq @ fder: | 9d: Jgit: i, T, J491, SERESARSTE 3 ooy Sufedy faaem== wfws:, srfa:, S safe
Mfapaee: T Faw sfadfaa 3f SRR | o @ &7 SRfayi= afRd o or: ga:

Tt 31 g IFTaRGA: OHITN: e SanQgeR: O o JaIf - 3RTe ik S1a%ad!, Wfdraasas!, 7 Hacme, ey ST Tied: | Meraeuw A JuHve: Haf | @em
g T vaf Sufve: | ufy: diew I gad | | e arandfdern ool ue fagariufaaes it sufvefifar) dew gmiaam dkgae: sraxget: 3fa @it 32 SEifan|

Q.No: 3 xfdakd - Ugw¢ fradl Page -1
A TfE + XAl
B TfER + @l
C e + @@l
- {
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D VKR + dI

Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

Tpa:— rehferad et ufder uymi e re: Sfdary I R frad)

YRR TBY Afedtadsy uRshqY $aw: Rrafaraumyiq @ faer<: | 9d: 7gf: i, aerd, a1, SRRESHRSE saife 7@y Iufedy faem< afe:, oei@:, &g sanf
e @ Fro sfariaa sfa SRt | o ta 37 SRR afd= 7 Wer: Fa:|

RO, Sfct: YT TeRTeIged: SI: TE SRawedtR: - I T - 3RFTI WfKiRg SR, WfRaTaRaes!, T Haawe, Japray e qi: | Afdasoed |y Jufve: yafy | dem
Tgg auyf: vaf Sufve: | o diew SEu ga @ | e areanidern siefd ua fagardvfiuesifa Sufveifar) dew gariagEr dkgas: sraxaet: 3R @i 32 St

Q.No: 4 TG THIAGAME & MARGHT:?

A SR |
B HYST:|

[ Bitceadl
D ST |

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

Tha:— srifafad Tt ufda uymt faremarere: Ifdamy 3w R )

YRR Z8Y IHRBYadSY IREHY 3am: Rmaieaauryri @l e | 98 Jgf: i, Sewrd, 91, SERESHASE S 70y Iufsy faem<- i, oeia:, iy 3oy
AifiTedT: g Fro sfariaar iy SRR | o wa 3 SRfayrRiA! aftvd= 7 Wer: oa |

Y, Si: T Yaaiga: JSI: U8 SIaqQeR: T g da1H - SRATS Wdaed Savded!, JGraadad!, 7 paae, Yaeriy SHavad] aa: | e ad Ayl SuHueg: Haf | @M
Ted Tl Yo Iufive: | Tl e SEIUE gay W | e renitemT sied 19 fRgariifiues iy Sufveiian) dew SEriaar SRyt savadt: 3k Wit 39 S|

Q.No: 5 g - Treedil &1 faufd:?

A e
B Gig
c Gl
D e

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

T~ e eIt afder uymt fAsearere R ea: Sfadary S far forad)

RS TP Ifeayaday uRshqy ofgan: Rrefdiauryri @nh fidere: | 93 Tqi: i, er, 361, SERESHAETeE sarie qay Sufpy e ik, srfa:, b saf
Wifieees: T Fra HRTRiaar sia ST | o T 37 SeRfayRiA afdda 7 Wer: oa:|

RO, SfeT: JATd THRTERIGT: JSHIY: WE SNagceR: 9 T T - SR fRIRG Sawa, AfRRara=as!, T Faawd, Iy s qfe: | kraeuwd Siayg: JUMve: Hafy | dem
Ted Tmyl: Yaf Iufve:| ol Ao SEIuE gay @i | e arendierr siefa td fargardifauesafy sufveifan) dew sanitarm dRgaet: savast: 3 w@iie 39 Iaitag|

Q.No: 6 firFeafdicay: - 3fd H fadmum?

A TfPTade|
B art fderew|
¢ HETHAT MR |

D Jufwe:|

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- riifad Tt ufdw uymt fadeaareRig: Ifaary IW e fomad)
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YRR T8 AMRPUASY TRSHqY gas: maiiayyRiq T Raemm: | 33: Jqfi: wnf:, aewd, 941, SaRESHREI 3ae aay Uy faem=- i, sia:, &b 3oy
fifopaeT: Ta Hrod sifarfaan 3f ISP | o ta a7 SaRfayriAt afdd 9 Wier: oo

FERNIfY, 31 YA ITERGE: JHITY: T SHagQeR: - M Jal - SRATh fkixg Sa%ad!, WdRaraadl, 7 Hacd, Tday STaad! Aiad: | Aeraeuw Ay Jufve: 1afy | dem
Tgd anyl: Yaf Sufve: | o diew S gav Wi | Miuew Jranidem aid te fRgariufiues i Sufvefiifar) diew gamiaaa SRgaeT: sraxaew!: 3 i 3= Seltan|

Q.No: 7 3: 30 o facimuees waaaw?

A TeH|
B pucsH
[¢] Rl
D J=k

Correct Ans : D
Subject : Sanskrit Bhasha 02

Passage:

G- el Tt ufdan uumt fseras arad: Sfdany S R fred|

YRR T8 AMIRPUPY TRehqy 3rgaw: Rmafaaeymyri T faer: | 93 Jgfit Wi, aerd, a1, SeREsAREge saife aay Iufedy fidem=m wid:, seia:, & sanfy
MRipues!: ta B sfaddar skt SRR | 3 ta a7 SRRyriAt bR @ Wer: Ba:|

IR, ofc: YIS YaaRgE: JEI: WE SaQLR: T I8 JaIfl - SRATd XfGRg Sa<asd!, XfRamasad), T Face, Ydaray SMavad! qfd: | Afkrawuw Jias: Sufive: Haf< | dier
Fed Fmyh: vaf Iufive: | o diew SEIvH gav W | Wfuew dreniter srefd 1a fasgardnfiaesifl SufveRifan) dew samitaar $Rgaet: savadt: 3fd @it 39 Sty

Q.No: 8 gWIFHH - 3Ry faufdaaa feraal
A feriar sgaamm)

B gt agaTH)
[ T fgg=am|
D I T

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Gopa:— relifraed venet ufan nymt fdeaereava: Ifadarm Sw i foeal

I TS FOfaR quST: A a
it e T Jud ISRy |
FRIR F0aui 7 ot Il agaR
F: BTG T R: P 91 TRATTA 11

Q.No: 9 UIUSI: gdl: H?

A PRAYT:
B TIYUsSdr:
C YRGS
D SfEqYa:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

Topa:— relifiad qaiet ufdan Uy fadearereava: Sfadar St e foad|

TR v ST e gam o
it e Tae Jud ISRy |
PRR a0 9 R0 IR TR
: PIAAYA T T P a1 TRA |1
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Q.No: 10 & Iroarq IR 2

A @RI
B A
C oA
D R

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

Topa:— reliferiad Taist ufsan usmr fapeareraava: Sfaaary S e foaal

I VG SO a1uST: A &
quiT e Tor 7ud ARy |
FHRIR F¥avt 7 ot Il @R
Fd: BTeaQ T 7R: BT a1 TRATTA 11

Q.No: 11 ﬂg"ﬁ? F:?

A TR
B €O
C SRR
D i

Correct Ans : B

Subject : Sanskrit Bhasha 02

Passage:

- oreliferac et ufe@n wumt fdeqeremd: Sfdans Sw faa foedl

I Ve AR qudt: gar o
quiiAt fee Tae U ISTARyURE |
FHRAR 80T T R0 IR TR
J: PIMEIA TG T P A1 TRAA 1

Q.No: 12 &9 TR: 7=ufq ?

A GEECE
B @
c EacERE]
D =

Correct Ans : C
Subject : Sanskrit Bhasha 02

Passage:

G- relifriad gais ufdan uymt feeaer: Ifaaar st e feal

T VSIS SAfaR quST: A o
Ui e T T0d ISAARYURA |
PRAIR a0 7 TR A TEH
Fd: HIaRE A R: $T ar IR 11

QNo: 13 qfiarery Zeaed Frse?

A Fomd
B aRewRId
c &
D P
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Correct Ans : C

Subject : Sanskrit Bhasha 02

Passage:

G- reliferad genst ufean uymt fadeararavea: Sfaaarm S fue fogal

T RIS SIfaE quST: A o
JUiAT Rer T Jud TSRy |
PHRIR F¥aui 7 ot Il TR
Fd: PTG LG R: P a1 TRATA 11

Q.No: 14 &: I Taar?

A sfer:
B IH:
C A
D REUL:

Correct Ans : B
Subject : Sanskrit Bhasha 02

Passage:

G- relifiad qais ufdan Uy fapearaeaa: Sfaaars It e foeal

T WIS SR qody: gar o
quit e T Tud ISIARURA |
FRIR (a0 9 FR0f IR TR
Fd: PTG T 7R: BT a1 TRATT 11

Q.No: 15 HRAR' A f&ye

A TR
B YRR
c TSR
D FURTRH

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 16 uf: Yar fsfar - ol

A forafy
B ey
c et
D forem:

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 17 fydy-fadeudl: 1 woal wmga?

A SR
B ST
c s
D [REISEES

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 18 '$=n:+Rsfr gral: At P -

A xfisfa
B <=ifgfa
C Sy
D
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Sty

Correct Ans : D

Subject : Sanskrit Bhasha 02

Q.No: 19 '@:’ gﬁ QE'RI'{TII&R'I: I-foye: &2

A
B
C
D

g+
?§+m:
g+
SRR

Correct Ans : A
Subject : Sanskrit Bhasha 02

Q.No: 20 YT G5H fIcH AEea™ HU-H ST

A
B
C
D

AT ST AR o

ATST AT RHafT

ATST AT S(THAT TG URadH AR
ATST HTSURHIRTa SHFRT

Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 21 e SexfareHiq I3 ST BV, TEH, TS, T, Naserq, HamH ifirafd: R R wg@aa yafa?

A
B
C
D

wo: g

e reTeR: Rigr
sparey gt

Jafdes Rt R

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 22 AP TEAIURSI FT HTTDHI?

[= e T v I

RIEEL|
faemem:

YISTRAPI

HTST

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 23 Hig: SIS WG dafd, SaTSia| T: et femert 7 T | IJeeRon -

A
B
C
D

ATT- 3ol
ATSTATH STRISRIAT
Tiga wiaymn:
AT~ SR

Correct Ans : A

Subject : Sanskrit Bhasha 02

Q.No: 24 HHIE-SIGFIT aRFA: TIRNG: HETIT: FAERURT SIRad Hafd | 3 fg a7 -

A
B
Cc
D

TS agR Rigafy

A R~ HTHT ) FEaH ey T quf T 9 SRt
AN AIGUTSTET: SUAT geltreate, 4 &  gerv 9y
SEATTENY BT iRl HAR

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 25 1fpg-urea=af-frad - 2005 3AAT WT: FAR: o.vvvvivinennn. WP
A RIRERICIES

B AERATGT:

c G

D TP RIS
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Correct Ans : C
Subject : Sanskrit Bhasha 02

Q.No: 26 TP (Noam Chomsky) HATER HTIRIT: Fol STAFTH TESTd-aafdl S --

A SIDHIUY (imitation)
B FURUNY (transformation)
C 3dIey (translation)

D SIfUTIRTA (acquisition)
Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 27 HiRyamremY & walfd Teayeiy ?

A PR TP opf: AT |

B wiar arfors RregTomy SuRk efdurt 7 HR |
c AT TP favar 7 WGk |

D YAS Ffdann: wE Fida: ork: e

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 28 vdF o4, S wed o2
3 T e I aaii- e TareR: v $if& -

A Siferge:

B gk

c faeRumee:
D TGRS

Correct Ans : B
Subject : Sanskrit Bhasha 02

Q.No: 29 SfrmHFwId faftEaEy & & I=-wY famme aesd ?

A RS
B STNATHDH
c TEAGTHDH
D IHTERIATH

Correct Ans : C

Subject : Sanskrit Bhasha 02

Q.No: 30 e Femal UeTqHw Ainaserd IR o1 78 $9 tag Teayd aq 3k
A UTeagEIS ST firag

B fRI&fH0T GO TH I Svag
C yfkrerat ST forawg
D T4 U g

Correct Ans : D
Subject : Sanskrit Bhasha 02

Q.No: 31 Wifie TR TR TN F UTed-Gad § 59 @Re 31 el & - far e afge?
A Fad FEIT ST HiIA]

B fad=h wifte @t o

c et T < = & aikaw & g & ofR oA e @t sremT-sierT Sert g

D T e T F T W SR o

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 32 ffifea & @ fow S & YU g9 & ¢ WRMHET, FATUM 9 WR & SaR-9g[ & STOR BHEI 5l T &1 T TH1 82

A Pepkanl
B T PRI
o e PRI
D X BRI

Correct Ans : B
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Subject : Hindi Bhasha 01

Q.No: 33 Tad 3R oIS Geaied & 11 g Tt YT §

A B B I PR

B BT P S0 HET

c ATST TANT B SIS BT TP PRAT
D TR TY A ST

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 34 = & § S qer fordt ATIw Iueur & o ot aisa § 2
A faxaeritaar

B b ool
c erar
D T T Jea

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 35 30 & § T 4w fmfos @ &2

A arfas safat

B TR eafrat

C SR @t

D TRF T SR @t

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 36 ST &0 &1 YA Ioxg &1 Tl €2

A SR Tt SifeafdT samT
B TR PGP FEG

c TG 31f TEU FIAT

D forars @ den

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 37 4 & § ur-Rigmr Ft Yoo snard fafl &1 vgw Sexa $H-91 78 82

A g GuURAT

B FU-Y WG] BT JH W ST

C [ NG Bl &wa P RAE e
D 7of e ¥ T B QW R BN

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 38 3 # & Tfiies WR W I &1 67 S8 1 82

A SIS SRV &HAT BT e
B ATST JH BT D 7 ST
[ & SR &l BT oy
D oG HUSR H SHfHgls 7 HT

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 39 3ifauEd go1s § we & ad-1 Rieror 3 walfie Suant f{fy A & & sF-0 g2
A G-y

B See-fafy

C S fafy

D e T S fafy

Correct Ans : A

Subject : Hindi Bhasha 01

Q.No: 40 ffiRaa A F U1 &1 AFE U SIaF Hel Yradl g ?
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A forerera &

B e |

C WY

D W Td FA QR A

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 41 WIS &} UHfY & Fdel & BH-T7 Hu IR 78 82

A TS U framag saw §

B AT HSReT & PRI [l T SRV B &

c AT TH-GER & i § padl-erdt §

D TS &1 R 3ifiies ST R STQ, ST ) 4T IR U FSTad Sl STa

Correct Ans : B
Subject : Hindi Bhasha 01

Q.No: 42 T A H W RAEY HRa THY FIUUH WA g 8

A I T BT
B afd &t

c el =zt o
D S SR FT

Correct Ans : C

Subject : Hindi Bhasha 01

Q.No: 43 {35t fou TU 1l 31 TR T T3 W S Y §U SN T - 8, I

A e oiR srarg 1 Brf

B ffoners yeR &1 HrRf

C IUHITHT THR FT FH

D IPHIHT THR $T HRi T3 Fafonas TR & w1

Correct Ans : A
Subject : Hindi Bhasha 01

Q.No: 44 Jrgad fafy & Hrwr Y ok e weM i ot §

A [EER

B Yarg gRI
c aa-ad &
D AT ERT

Correct Ans : C
Subject : Hindi Bhasha 01

Q.No: 45 3T §U WIKis! & THg H, S WIdic sgem Ge9 s R oM e, SV Fea g
A g

B HHD

[ HH® f=eH

D WS = /aeie

Correct Ans : A

Subject : Hindi Bhasha 01

Passage:

3= Y I T TR B UGk IP T IR F e S SaR a1 faded &1 9ue Sifer-

gl ST &
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a9 wreg ot afmT aur & U9 3t WRifiet ¥ =T & vy & wee 3F 91 avas 81 $o e afdadl §, e v amd Solfd & yiewr &t 9 €, wme fagm & Rk te eaygef eun

Ryfa % fom fordlt oo & wa% g1 WieR o o aren fawa g1

37t faqT & gHRT off gHR fad oiR IuF URaR & 79 79 ¥, 39 Wt &1 7 I @1 Fafed ofk Fafia @9 & § §) g 39 IF 1 W sl 81 1 Sideite water! & e fosam s
RN # 50 39 sAfa Al &1 Iwi Fvd § o fagm &1 e da1 & g wge o o 99| S H T SRR 9a & f simofaes fagm ofR it & adoe waffte diefia &8 & Saresur
fau o wa B g fage @ s Ui aifee da Raw & ifte @ sra a1 faaftsd gu o=l B wola SR T &1 A1 a1 | 98 Wit ® Rred 50 duie g a1 wan o 7 & R
TRATY] fSeReieR 31 T -3 99 §9H & 31 o g1 g8 oft Wi § o Afds 1 o Al € SR Afdedr wd srfamd @1 sifted Fal 21 faw dew a1 sfae § ofR St of A e a1 wed
BT BT FaTY e P T, T TF AP SR THNRAT TP A 9 F A1 39T e IR Faad g

Q.No: 46 IUHa TN F AR, A HYF H 9 HIfoTT-

A 311 o 9 TR o TR kg ok S% uRaw ¥ @ 79 9, 39 ot & F 39 9 PR ok Pafm @ 33 2

e o =8 mifvum For A T FTEt MeiES @ e A e o o e S R
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TMHTT SIS S8 ST AT WA YRR AT ST M2 MY 7T T ST QT VMKMW @1

B
c TR & g0 97 sFfa faftrdl &1 Swre wwdt § RFR e ot ara da1 & R g fear s )
D A deRr 1 3R ¥ SR Fft oft A SR A1 A Fedr B Ry FR Foha 3

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

e = AT Y TR T uge P Y UK S 99 IiYd Sk aK [P 1 99T $Ifere-

oM <reg B uRUTT T &5 Ud 39t Wit § fir=rar & fwg & we 3F 891 1w €1 $o Aisawi afwdt #, % o A sl % uiasy 3 Tt §, 2me g € Rk e aeagt sud
fRufay & fm fopsht siofey & W gR1 iR o o aren fawa 31

37 g | TRt orf AR faxg ofR IuF uRaw F 9 I ¥, 39 Wit & & 3 391 Fafea ok Fafia @ier & @ %1 weg 39 37 &1 W ot 7 b wdeie waent & forg o s
Wit & g0 39 srfa T o1 Swore BRa & RFR i &) A Ja1 & o vged far o 9% | 1 § T 3R a1 & 1T v R iR Weifiet & adum waifie deha &6 3 SeeRy
U o 9% §1 7 o § Rl uid afais da Rem & e s a1 fiafted gu o=l 9t uefy ok S &1 A dar 81 ug ieifiet & R 3w daie = o1 wint feeh M ¥ Rie
TR SR 3 F-¥@ma1 98§ H a1 oian 21 78 oft Teifiet 3 S Ao 1 A el @ SR Afdear wd srfama @1 sifdhd Fedl 31 faue dew @1 sRfae § 9IR il o A smem a1 wed
Feal BT fadtY TEF HR G, O UF AMAS AR THRET TF T 9 F A 9T Ay FR 9w g

Q.No: 47 IJuda TN F SR, THAH & F5 & aGUS 1 Siea0 1 G IHadl 32
A fagga & R & wam &1 fER

B A Sna 7 @9 &1 R
c YT deiiet ¥ IaTeRU BT AR
D AN qH-D! & IR F AR

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

A A T T T F UgER I TN TRl § e 3 SaR an fawed &1 9ae Sifon-

faqT wreg ot ufmr aur & U 3uat URifiet & fetar & fawg & wee IM S e §1 $o Afdasel safeadt §, e U o Soifd & 4w ot 9t €, wmg fagm & Rkt weagef som
fRufay & fomm forlt ooty & wad gR1 SR far o aren fawa R

1ot fagm ¥ gaRT orf g fa%a SR 9% uRax & g@ I 9, 3u% widt & A 3 9 Pafea ok o Wier & @ %1 weg 39 IF &1 Wi st 1 o ardeite wEeml % fir fasan s
Wit § g9 39 sMfFa fafidl &1 Iwie Fva & foFd fagm &1 wa Ja1 & o wga fan o 99| S & e SR 9am F g simufass fagm ofR ueifial & adum waifie defia &5 @ Sarsu
fou o I B 9% fawm § el o uifes 9@ R F e § s a1 fiafved gu of=l 3t udfa iR We &1 AT B €1 7 Weifiet & R 3u e e o1 v el 7 R
RATY] AR @t FY-Yarn I §9H & foran otran 81 ag +ff wenfiat § S Afad W1 9 adl § ofR Maaar v sPfdedr 1 sifrd SRt 81 O dewy a1 sfad § ok @t off e R ar Ard
T BT R T HR ThHall, TN TF ITMEF 3R TR TP Td 89 & T 397 Ay R o ¢

Q.No: 48 w1 & § Iudaa Sraavur aaT 87

A D
B HRHTHD
C IATHD

D SABING

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:
&R R AT T TR S YgaR UP T U] & 9ed 3fd Iak ard [aded &1 9 $ifeig-

T wreg B uRumeT aur & Ud 3uat WRifiet A fiTar & vy & e 3F 91 aves §1 $o Afdasel afdadl §, R o amd Solfd & 4w 6 9 €, wme e & Rid te geaguf egen
Rufar # o frell smufr & wo g1 WeR fan o aren fawa 21

o1t fag & guRT off ER favd ofR 9% uRaw & 0 79 ¥, 9% Wt &1 F 79 @1 Fafed ofR Fafia @9 & § §) g 39 IF 1 W Sl 8 % wrdeife v & fore fsan s
R § 59 39 MG fafel o1 S FRa & R fage &1 e da1 & e v o o w9 | S F T oRR 9am % e sioifass g ofR it & o weffie defi a6 & SeeRe
fou o g §1 9 o @ el uR uifde da@ RFam & e § s a1 foafted gu o=l 3t uefy ok G &1 A Bar 81 g Welfiet & R a0 dwfe g o1 v ferdt s & R
TR faerefer 39 T O-3amr 9§ ¥ & fr o 21 98 oft e § o Afte 1 3 At ¥ SR Afdear wd srfaedl &1 oifted el 31 faw dewy A1 sRfae § ofR Fuit off Al R a1 wed
Feo F1 fadly g R TFel, TAf TP QTS 3R THNRAE TF AHE §H F A1 SUPT R IR T 8

Q.No: 49 I THiY F SR, T I AR fafrdl 1 Ieer S § o fawm 1 e a1 & R vy e on w91
A o &

B e F

c Hrenfe &

D ¥ B

Correct Ans : C

Subject : Hindi Bhasha 01

Passage:
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 10/43
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e R o U TR Y UgeR g Y U & 9ed 3fd SeR Ak e &1 997 $ifne-

o weg B ufamy aur & U9 3adt Meifiet A firgar $ fawg & wee IF B Saxas €1 $9 fFael afwdt #, RFd o A Solfd & yidw 3t 7l B, wme fagr & R 1o Heaynf eigow
Ruyfar 7 fam fonst sufey & T gR1 WieR far 91 aren fawa g1

311t FoRTT & BT o1 g i oIk 9% uRaAw ¥ 4w 9 9, 3% Wi & & 79 3 Prafea ok Pafa @ # 9 §) Reg 39 90 31 W0 o T8 5 ardee i & R far s
RN § 50 39 sARMa ARl &1 Iwe F7d § RS fage &1 Ara Ja1 & e vy a1 o1 99| S § T 3R 9a & fag simufee g oiR iRifiiel & adam waifie diefia &5 & e
fou o1 e §1 75 fag & ol uR uifes @ Rvam & it & s a1 faafted gu ol 1 o SR Te &1 A1 g 81 9 Ueifiet § Rl 5 S g & wan et &
TRATY] SRR 3 F-XamT 39§ & 7 o g1 9% ot Wi ¥ o Afte 1 3 Ot ® SR At wd srifiwar o1 oifted el 81w dewy a1 aifae & ofR et off A aneR a1 wd
FHeT BT R e FR T, TN TF D 3R TH-AREE U AT 8 F A0 39T AR FR T g

Q.No: 50 1 & & forw res &1 WOt Sua e =Y foan mam g2

A iy
B SHYHR
c 3T
D AT

Correct Ans : B
Subject : Hindi Bhasha 01

Passage:

e AR T T TR T Ug@R P U U & el Siud Sk akd [P 1 99 $ifer-

oM reg B aRuTeT g 857 ud 39t RN | firsrar & fvg A W 36 891 e §1 $o wfd afkdl §, e o A o % yiasy 3t o B, wag g € Rk e newagf sud
fRyfa 7 o1 ot oot & w9 g1 SR fFan < aren fawa 31

311t o & gy o g faa ol SE% uRaw % uw M 9, 3% Wi &6 & 39 9 Pafea ok Fafie 9 3 § 81 TR 39 30 31 W S T8 g weie & R fa s
RN § g9 39 eMfa fafdl &1 Swig F=a § o fagm &1 e Ja1 & e wge f&5an o 99 | 3 & e 3R 9 & (o oufass g ofR Ueifiet & oo waffie defia &3 & e
fu o I §1 7 e § Rl ot anfae g R & e S s a1 Riafted gU o=l 3t uefa 3R e &1 AT dar 81 U Wit & R 3w dwiie = o i feedt M ¥ R
TR faerefer 3 T - 39§ # far o g1 9% oft Treifiet § o At 1 Al @ iR Afvwar wa srfama @1 sifted FRdl 71 fow dew a1 sRfaws § 9IR Ft off Ao smeR a1 wedl
Fe0 FI falY S B THel, Taf TP QTS SR THNRAA T AFG 8 & A1 STPT 1Y X Ibdl 8

Q.No: 51 & & ufee® weg # BA- Iy &2

A <Y oy
B 3 <
c o WY
D 7oy §fY

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:
= i T 1T T #Y UgaR UP Y Ul & el 3Rd ek At [Awed a1 99 Fifie-

R T8 1 g a1 & T 3t DRifitet & fisTan & fawg & T IH 891 o< §1 $o Afeasen afeadl #, e e 7 Solfd & yiaw ot a5 &, wmag 99 & Rt geagul srgom
fufa & R forelt smufy & wo% gR1 WiaR farar 91 aren fawa 81

Tt ot & AT 9 g fared iR S Uiy & 7@ 9 9, 3% Wi &6 ¥ 39 90 Prafea ok Pafta 99 # 9 §) g 39 90 31 W0 S T8 ardee Tl & o e s
Wit 8 g0 39 smfa RfET o1 Sworg HRa § AR R &) AT a1 & o vged f5ar o 9% | S § T 3R S & 1T Uil R iR Weifiet & adum waifie dieh & 3 SeeR
fou o 4 §1 U o § Rl ud aifae aa R & e § srem a1 faafted gu okl 9t uefa ok G &1 ame dar 81 ug Telfiet & Rl 3u defe 39 o1 wint faeieht M & e
TRATY faorefeR 31 w31 39 F9H & 51 o g1 7 oft Wi § o Afae 1 3 At ¥ SR Afdedr wd srfaddl @1 oifdrd FRet 81 fage dewy A1 sfad § ofR Felt off Afde smeR a1 wed
FHeol B Y S IR Fhell, TAf TP A0S SR THHRRA TF A 8 & A1 39T kY R I B

Q.No: 52 I ‘TP HIT BT Rl g8 91 DI gut {1 & a1 a1 Fg’ & Y U R1eg $1 797 Bifore-

A S

B SAHTSH
c Srde

D SrgHT
Correct Ans : C

Subject : Hindi Bhasha 01

Passage:

= R T T TR Y gk P U U & e 3fd Sak akl ided 51 997 $ifne-

faqm reg @t uRTwT aur & Ud 3t URifitet & fietar & fawg & wee IM S e §1 $6 Afdasel safdadl #, foFe U g Solfd & 4iewr ot 9idt €, g fagm & Rkt weagef sgum
fRufa & famr frht omufey & e gR1 WieR fran o= aren fawa €1

oS ORI ¥ gaRT ordf BAR fazg ofR 9% uRaw & 0 I ¥, 396 Wit &6 o 3 @) Fafea ok Fafia Ger & § §) g 39 IF &1 W st 81 6 Irdei-e weeEl & fore foran sl
TR # g1 I 3ARa falidl &1 Iwie F=a § R fawe &1 wra Ja1 & g i fan o 99 | SR & T2 o /i & fog simofaes fog oIk i & oo waifte diefig as & Samesu
fou s wepa &1 e fawe R Rl U uifeie aa RXRaE & it A sia a1 faaftsd gu ol B i iR S &1 A a1 ¥ 98 Mt & Red 5 duie g o1 wan S s R & fig
A AR Bt FY-Xaar 3§ §91 & far ar 31 g ff e & o At W1 3 Al § iR sl wd shfdwdr 1 sifdd aRed §1 R dery a1 sfas § ok it off A smeR ar Ardg
FHT BT fRe T B FHall, TN TF JEF 3R BRI Th AT g $ A1 39T a1y HR Iahd gl

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 11/43
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Q.No: 53 fmfifdd & & Y5 a9 BT 797 BIT-

A Ryamr sy Bigar Tt ame )
B STIF T T | T AT B

c ITF U S HEW § TS GART B
D g 3SR e B HERA IR @I T

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

A P F TR IP U U F 999 3T Sak a1d e &1 707 FI-
R} Bfa o IR &4

ofg fcfs a7 ara ot gudr-s
-+ G g g B o1t sgAr-adR)

TS g WA & B 7 Rig-7m w 3R
BRI BT BT SHT-=AT ST gell 7 bl |
e A Fyia Higd feg s sl St
¢ o w0 3 SR i 57 mapveawi-fag wmn
I $I-HH TETEd AHT T T A WIS
59 WY TP T T S TG G |
TIREe’ WigT Sewrh o ofn SR TR

Q.No: 54 = & & Swad ufekml & e &1 W Fage-
A ORI wg fgadt

B URdg sREx

C YR Rig e

D T ) e

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

A P ) TgER U Y TRl F 999 SFId IR 9 aFed 1 99T Fife-
wi e 3t Ry S

S fochfes i 7 ame st que-se
Ag-e i 18 iy SR 311 SHgr-dR|

T T WA F s a8 Rig-amR w AR
PRIT BV T ST-4=AT ST el A &t

T & wuf e R i odid st
¢ ¢ ¥ 38 Sifg Ui o7 Aeveas-fag il
I FI-FH Tg1ad A1 T T G
59 WY Wi T 91 O S99 9arR

it Aige sgurht i o SRt usi

Q.No: 55 4% & § BI9-31 sz 19 Bl gafgard 7 82

A B
B e
c PR
D g

Correct Ans : C
Subject : Hindi Bhasha 01

Passage:
=T FIEE F UgHR P T U & 99D I Iak ad T &1 797 Fifor-
R} Bfe & AR &

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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Sfe faefes fw 7 ara ot guarg-sh
Fe-e i «1g fiyT BR o1l WHA-dAR|

T T Wied $ ofd wre Rig-am w R
BRIT BV F=1 S-471 ST el 7 i

i @ Hueid Hig g ig Bdlell STt
& o ¥ 3@ SR Ui 5 Heeaw-fow
1 FI-FY FgTad T HiF 7ol Uil
¥ WY Fop T T I T e |
BREe’ e Sgumh RO ofen SR T i

Q.No: 56 GG *3itlf F S 1, o e T o1 Tt 31 Fagu-
A 7! Bt A o F T A R ]
B TS S & ST

[ gfedh, fog wmam
D Tl oY U & AT ordt a1 war o R

Correct Ans : D
Subject : Hindi Bhasha 01

Passage:

T P B Ugex U9 Y U1 P 9 S IaR a1 faded 1 99T Fife-
oR} BfY 31 A T

Sifg faehfe faw = ara ot guurg-sn
- 9 a1g iy B o1 SAr-aR|

TG g Wifee & of 7 Rig-7mR W AR
PRI B ST S0-4=AT 37 el 7 i1

T @ Fowkl Aied 2 g odd STt
o7 ¥ ¥ 3 IR 7 57 mapreawt-fag @mn
I $I-FH FgIad Q- HiF 791 I uwetl
Y Y U1 TG 7 T IHd TaTs |
e’ Hige Jeurtt 5 siem ik wgi

Q.No: 57 # 26 AENYE B B, 14-12 W AfY S B | RO & 3fa A TY-TF 1 SMaxaF € |
A e 8=

B I B

C R TR

D PSRN &5

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FER: FToAI Bl Tg@R gP T URAl & 99 IFd Saik a1 faded 1 99 Pifere-
wR iy 3 IR SR

S fachfes fw 7 ame st guur-sH
Ag-ie 9 a1g Ay HR 31 SHEAr-dR|

TP T WA F B A Rig-amR wdRN
PRI BT ST S-4=A1 =7 gl 7 S|
e W FuDia Hied fea Hiig S ST
¢ o T 2 Sifg 7l 5T wepveaar-fag ail
T $I-$H Fgad AIHT HIF T T WSl
F9 WY T T T P TG G |

g g sgurt R siem SR wi

Q.No: 58 fRTAd # I fr wree-gm 1 WA Iugad Ufdadt & far m §2

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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A ST - 9T
B - ¢

C 9-99
D BN - R

Correct Ans : B

Subject : Hindi Bhasha 01

Passage:

& B B TeHR U9 Y U & 9ad IR IaR aK fdped BT 9g Hifeie-
oR} BfS 3 AR T

e faefes Ay = ara S quuE-SFI
Fg-ie @i a1g fayT HR a1dl SI-aRi
FE gid Wa & B 7@ Rig-»mR ® =R
BRI B BT SFT-8-AT ST gell 7 Fabi |

T @ FoH Hied g iz o st
o7 o w0 3 R v 5 mepveawr-fag @i
T FI-FH TETHd W1 HIF T A W
99 SR THIF Y T P TG TR |

e Hige Jeurl 59 sien SRk ai

Q.No: 59 ‘R’ & yged §fY &1 AW Fase-

A foeef <y
B e Y
¢ < iy
D 7oy Wiy

Correct Ans : A
Subject : Hindi Bhasha 01

Passage:

FE: DI B TGHR TR T UL P GG IR IR a1 fbed 1 TG BIL-
wR! Bfe F1 a4

e faehfes iy = ara St guu-S
e-e i a1g i B 1) SR

T g Wfod F o 7l Rig-am w IR
PBRIY BV T T-4=AT ST Al 7 &t

I <& TS e g vife Tl
o7 o7 ¥ QG Sifg 7l 5 HpReawl-fag dmil
1 $I-$H FgIad AHT HIF T TG Wl
¥4 WY TP T T S TG Gar |
wiee’ AeT sgurh M ofen SR urg i

Q.No: 60 1 & I gfar o1 arf o &2

A R
B Eapc
C R

D fag

Correct Ans : D
Subject : Hindi Bhasha 01

Q.No: 61 Find number which is multiple of 2 and 6 simultaneously.
2461538

g ST T1d DT N T 1Y 2 3R 6 FT O gl
A 7286

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx
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7286
10010

10010
30032

30032
330210

330210
Correct Ans : D

Subject : Mathematics

‘2?‘-1’\(‘5‘28325 What should come in place of the question mark (?) in the following question?

Frefafaa v % weramam g (2) & T W T AT =fee?
8 39 1

2 —_— —_— -—=

?X S X X5=1

W (AR W~ (AR N= (SRR

ST

1
4
Correct Ans : C

Subject : Mathematics

Q.No: 63 What should come in place of the question mark (?) in the following question?

2466953
3+3.3+3.33+3.333=7?
FafeRe we 3 wyarEe €6 (?) $ ®M W A1 A ANET?
3+33+333+3.333=7?
13.396
A
13.396
12.993
B
12.993
12.963
[
12.963
D 13.993
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13.993
Correct Ans : C

Subject : Mathematics

Q.No: 64 A student attempted 108 questions in an examination. In this examination, every wrong answer was given 1/3 minus mark and the right answer was given 1 mark. If
2467160 the student scored zero marks, how many wrong questions were done by him?

TP B A TP WeT H 108 Ui &1 WA B 39 wia § & o SR R 1/3 HIST9 3% Y T61 I Bl 1 3 371 1 o411 afe 8 A 7 ofe Ui {6y, @S9 g T e uy
feume?

85

85
81

81
89

89
88

88
Correct Ans : B

Subject : Mathematics

Q.No: 65 The present age of Mr. X is double of his daughter. If the present age of her daughter is 20 years, then how many years ago his age was three times that of his
2467231 gaughter?

AT X B fTH S ISt T B S §1 Al I TRt B adAw omg 20 9 7, @ fvas ad g Iu@t oy STt T @t oy @t e T e

5
A

5

8
B

8

10
C

10

12
D

12

Correct Ans : C

Subject : Mathematics

Q.No: 66 Fifteen years from now, Ravi’s age will be four times his present age. What is Ravi's present age in years?

2467386
e  Usg 99 w1e, I B 1Y IS GAM 341G BT IR T B e I B adH= omg uf F 7@ 82
5
A
5
20
B
20
10
C
10
25
D
25
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Page - 16



ticllce, V.41 "Wl o gihpypel.LCAdilio. LUNTIVIE T LD wallld_JUUjcLUUlion L 7vim 1 aldliiivipatici/iritial_ivViIVUTI_AlIoWwEl.dopyA
Correct Ans : A

Subject : Mathematics

Q.No: 67 Ifx:y=7:9andy:z=5:4,thenx:y:zis:

2467445
zIﬁ'«x:y=7:9»ﬁR’y:z=5:4%’,?ﬁx:y:z%
7:45:36

A
7:45:36
35:45:36

B
35:45:36
28:36:35

C
28:36:35
27:35:28

D
27:35:28

Correct Ans : B

Subject : Mathematics

Q.No: 68 What is the area of a rhombus, whose one side is 20 cm and one diagonal is 24 cm?

2467618
TH THIGHS BT &a%d 71 8, et Ta Yo 20 31 oIkt fawuf 24 I 2
240 cm?
A
240 T2
480 cm?
B
480 w2
384 cm?
c
384 wi?
386 cm?
D
386 @i?

Correct Ans : C

Subject : Mathematics

Q.No: 69 Find the area of a rhombus one of whose diagonals measures 8 cm and the other 10 cm.
2467669

T IS BT AT I B s T fawul 3t A 8 Feft ok g & 10 It B

36 cm?
A

36 T2

80 cm?
B

80 i

48 cm?
C

48 T2
D 40 cm?
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40 w2
Correct Ans : D

Subject : Mathematics

Q.No: 70 The difference between a three-digit number and the number formed by reversing its digits is 198. Find the difference between its first and last digits.
2467729

TH S T BT TS 3R TP T BT IS Y T+ TS & 919 BT SR 198 B IHP Tg IR i it & g BT SR 7 PN

4
A

4

3
B

3

2
(o}

2

1
D

1

Correct Ans : C

Subject : Mathematics

czzﬁl\‘scgo?s ABCD is a parallelogram and BD is a diagonal. ZBAD = 65° and 2DBC = 45°,then £BDC is:

ABCD U®% YR 9q4s 8 3R BD U fa@vi §1 2BAD = 65° 3R 2DBC = 459, ,BDC §:

65°
A

65°

70°
B

70°

20°
C

20°

50°
D

50°

Correct Ans : B

Subject : Mathematics

3&%‘327022 An angle is 30° less than thrice its complementary angle. The measure of the angle is:

T BV T G B0 B A 7 A 30° BH 81 B BI AT B:

60°

A
60°
50°

B
50°
80°

c
80°
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D 40°

40°
Correct Ans : A

Subject : Mathematics

Q.No: 73 The total cost of 3 tables and 2 chairs is Rs.1500. If table costs Rs.40 more than a chair, then find the price of a chair.
2468330

3 79 SR 2 FRIGE &1 $d T 1500 I B 3 B9 Bt H10d FRoH T 40 T o4 §, @ Tl &1 g3 9 Fiferw

Rs. 270
A

270 39

Rs. 276
B

276 708

Rs. 267
C

267 9

Rs. 250
D

250 9

Correct Ans : B

Subject : Mathematics

Q.No: 74 Which of the following is not related to early number concept?

2468615
Fofafed & 9 o1 IRE dem saurom § a7 82
class inclusion
A
of gy
conservation
B
e
measurement
C
A
classification
D

Euicae]

Correct Ans : B

Subject : Mathematics

Q.No: 75 The ratio of 144 months to 12 years is:

2469632
144 A8 § 12 aY &1 30 3
3:2
A
3:2
1:1
B
1:1
1:5
c
:5
D 4:1
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4:1
Correct Ans : B

Subject : Mathematics

Q.No: 76 The height of Vaibhav is 150 cm. The height of Shashank is 120 cm. The ratio of height of Vaibhav and Shashank is:
2473432

Ayd Bt Hag 150 it 1 <=IiH A HaE 120 Il B Ava SR XiE B SR BT AU B:

4:5
A

4:5

5:4
B

5:4

5:2
C

5:2

4:1
D

4:1

Correct Ans : B

Subject : Mathematics

Q.No: 77 Which point is not of informative and summative assessment ?

2475512
T 1 fig TS 3R GRS G 31 T8l 82
A Objectives
B Tests
a0
Level of Generalization
C
AR BT TR
D Class teaching
e Rigror

Correct Ans : D

Subject : Mathematics

Q.No: 78 Which of the following is not a cause for backwardness in mathematics?

2475560
Frafafed # & S5 1 § RSSTH &1 SR T §2
physical handicap
A
RIS faa
mental handicap
B
AR ST
c ggnder
lack of interest in subject
D

fawa & <f 3t Tt
Correct Ans : C

Subject : Mathematics

Q.No: 79 Which two numbers should be interchanged to make the given equation correct?

2479415
4+6x5-12+2=40
TeT T FHIPRU B TG §1 B AT fobe1 31 TemShi Bl U9 H geall ST AMiey?
4+6x5-12+2=40
4 and 12
A
43R 12
B 6 and 12
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63R12

2and 6
C

23R 6

6 and 5
D

63R5

Correct Ans : A
Subject : Mathematics

Q.No: 80 If 879 = 8,625 = 1 and 586 = 9, then 785 = ?

2480935
qfe 879 = 8, 625 = 1 3R 586 = 9, T 785 = ?
6
A
6
7
B
7
8
c
8
9
D
9

Correct Ans : A

Subject : Mathematics

Q.No: 81 Given interchanges: signs + and x, and numbers 2 and 8; then the value of 16 x 8 + 2 is

2481018
o 7T e (3o H deer): RE + 3R x, IR I 2 3R 8; W16 x 8 + 2B AN T
72
A
72
as
B
a8
64
c
64
16
D
16

Correct Ans : C

Subject : Mathematics

Q.No: 82 The right sequence of sub-groups of psychomotor domain is

2481783
TR S F IU-THE BT G HA D
Perception, Set, Guided response, Mechanism, Complex overt response, adaptation, Origination
A o, e, PRSI SR, 4, R e SR, SR, SR
Perception, Complex over response, Set, Guided, response, Mechanism, adaptation, Organization
8 R, wiafea W wied, e, MR, vk, @, sgge, 9ed
Set, Origination, Guided response, Mechanism Complex overt response, Adaptation, perception
c e, iy, P e, et e SR, S, RO
D Guided response, Mechanism, percgption, Set, Adaptation, Organization, Complex overt response
, <, URom, ¥, G, W6, e uad
Correct Ans : A
Subject : Mathematics
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 21/43

Page - 21



lticlice, 9.1 "Wl o gihpypel.LCAdilio. LUNTIVIE T LD wallld_JUUjcLUUlion L 7vim 1 aldliiivipatici/iritial_ivViIVUTI_AlIoWwEl.dopyA

Q.No: 83 Which of the following statement is true?
2481832
I. Sum of 1212, 334 and 298 is 1834.

I1. When the sum of 912 and 445 is subtracted from 1366, then the resultant is 9.
III. Sum of 339 and 185 is 16 more than the sum of 96 and 412.

i & @ T @ 97 9 82

1. 1212, 334 3R 298 &1 UTHd 1834 T

I1. 919 1366 # ¥ 912 3R 445 &1 JrTohal P TeTl W1 7, o TROTH 9 Bl 31

111, 339 3IR 185 FT ANTHT 96 IR 412 F ATHT F 16 34T B
Only I and II

a9 I IR 11

Only I1

Fad 11

Only II and III

Pad 11 3R 111

All I, IT and III

e gt 1, 11 3R 111

Correct Ans : C

Subject : Mathematics

Q.No: 84 A student in a class asked to find the value of 'x' in the equation 30x = 15 and he solved it like this:
2482284
30x=15
_s
*=30
_ (31+5)
T (243x5)

v

x=
Which of the following properties used by the students for determining the value of 'x'?
A) Distributive law

B) Inverse multiplication law

C) Repeated addition

D) Associative law

TF T8 & T el 7 iR 30x = 15 F 'x' BT A F1d B B B 3R I 33 T YBR 5 {Ham:

30x=15

_ _(3s5)
T(243x5)

x__l
5

feremdi gRT % 1 A Fefia S & forg Faforea 3 3 6w 7o &1 Sudi far s &2
A) faau fmm

B) UM Hicad Fam

C) TRIGd S1g

D) JEaRt fam

Only Aand D

Fad A SR D

OnlyAand B

Faa A IR B

OnlyBand C

FaaB AR C

Only Cand D

© ¥ad C 3R D

Correct Ans : B

Subject : Mathematics

Q.No: 85  Which of the following is most appropriate for a community school?

2482299
e 8 & $F O angeiiie e ¥ i 99y Iuge 82
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A To lead the society
TS BT A B
To be the centre of social life
° e i 1 3
To remain engaged in social activities
¢ e TR o e
D To be honoured by society
AN gRT

Correct Ans : A

Subject : Mathematics

Q.No: 86  what will you do if your students do not take interest in studies ?

2482336
Tfg UG BT UeTs H Sf g1 il dl 319 1 H4I?
You will take interest in your teaching
A
3 3y fReror & wfy &
You will make your teaching more interesting
y o 3 P 1 o e e o 2
You will give examples of meritorious students
¢ o1 e S 5 e
D You will try to know the reason for lack of interest
1Y B B S BT RO A BT PIRI

Correct Ans : D

Subject : Mathematics

Q.No: 87 The more Comprehensive Plan is

2482491
S T e §
Lesson Plan
A TRreror s
Unit Plan
B qﬁr—:!ﬂm
Resource Plan
€ e et
D None of the given options
faw mu faedt A 9 9

Correct Ans : C

Subject : Mathematics

Q.No: 88  Class-room teaching skills are developed by using as feed back device

2asaris TS ¥ oy & w F ST T Han-Fe e B el o §
Simulation technique

A STHRYT THHP
T-group technique

8 g dHD
Micro-teaching

¢ geA Rreqor

D Programmed instruction

Correct Ans : D
Subject : Mathematics

Q.No: 89  Comparison questions can be asked

2482773
qa Y T o qad &
A In the beginning
o #
B At the end
ot &
c In beginning and in the end
oorma § R 3
D At any stage
PR RE

Correct Ans : D
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Subject : Mathematics

Q.No: 90 “Mathematics is a way to settle in mind of children a habit of reasoning.” This is the statement of :

2482834
T g & T H TF TR P SIS B TG BT TF IRIST 31" TG T 8
A Locke
Galeleo
B
chiferar
Bertrand Russel
Cc

EECRUS]

None of the given options

e o g et & @ i T
Correct Ans : A

Subject : Mathematics

Q.No: 91 A product of photosynthesis is:

2469362
TR TRV BT T IS §:
Oxygen and glucose
A
et SR T
Chlorophyll and water
B
FiRifpa ok urft
Carbon dioxide and water
C
FIT SISilewEsS 9k urft
Water
D
R

Correct Ans : A

Subject : Environmental Study

Q.No: 92 Regarding the greenhouse effect which of the following statements can be considered as uncertain?

2469459

Pered UM F Tay F el & § g wua 31 offdd wm o d@ar 82

The concentrations of greenhouse gases in the atmosphere are increasing due to human developmental activities.
A

TG fepre TRl 3 SR araraRe & Hi-gred el o wigdl 95 W ¥

Global warming will result in an increase in the number of tropical storms
B

e T % uRuTRaEy Swie st qer @1 ve | gi erit

Global warming will result in rising sea levels
C

T AT & TRUTERRST TR P %R a3

Greenhouse effect results in increased heat energy in the atmosphere
D

FTE1SY THTE P IRUTHREEY SR § ST SHell A 9f 8t &

Correct Ans : B

Subject : Environmental Study

Q.No: 93 The first known infection from SARS-CoV-2 was discovered in:
2469504

SARS-CoV-2 & U5 Jd Jep Ul 1 B 1 77 o

USA

ST A
B
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India

HRA A

China
[+

Gk}

South Africa
D

SRor apier A

Correct Ans : C

Subject : Environmental Study

Q.No: 94 Increasing skin cancer and high mutation rate are the result of-

2469808
TG §3HT @l BT HIR SR SR [FEP PR 3-
Ozone depletion
A
SN T B B
Acid rain
B
3t aut
CO; pollution
C
CO: HgygoT
CO pollution
D
CO gy

Correct Ans : A

Subject : Environmental Study

Q.No: 85 Which is not a Greenhouse gas?

2470106
HRA i Trew A T §
Methane
A
s
Carbon monoxide
B
T ArTe RS
Nitrogen peroxide
[
RGO YRS
Ozone
D
el

Correct Ans : A

Subject : Environmental Study

Q.No: 96  Which of the following is/are the shortcomings of role play method?

2470292
Faferaa & § SH-1 i Pl (a0 w) @1 Ry = Sl &2
Can lack focus unless well planned and monitored

A
i ok PR & R vl ot o 8 wodt §

B It is a monotonous method
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g U@ R Rl &

It slows down the learning process

T de 3t uiear B v IR S

It is a time consuming method

Tg 3ifre Ag & areh faf &
Correct Ans : A

Subject : Environmental Study

Q.No: 97 Buildings and precincts of national or historic importance, embodying excellence in architectural style, design, technology and material usage and aesthetics fall within
2470675 \yhich grade of heritage?

I 1 AT Hed BT TARY SR URRR, IRgPen Jefl, feomz, Weiffiet ofR Al & Iuan SR AicdRd & Sppdl o1 Wie R & 59 38 F ofwmia om 32
Heritage grade-III

A
e 98- 11
Heritage -1V
B
fREa-1v
Heritage Grade-I
(o}
A ¥e- 1
Heritage grade-V
D

v Ts-v
Correct Ans : C

Subject : Environmental Study

Q.No: 98 The average winter rainfall in Delhi is around;

2471947
Tt & sira ST auf ae B §;
70 mm
A
70 fimdt
85 mm
B
85 famdt
53 mm
c
53 farft
40 mm
D
a0 fift

Correct Ans : C

Subject : Environmental Study

Q.No: 99 Fluoride has an affinity for which element?

2472042
wiRES # 5y 7@ & forw v sefiaam 82
Carbon monoxide
A
P AelaEES
Lead
B
WS
[o} Calcium
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Fferrm

Copper

diar

Correct Ans : C

Subject : Environmental Study

Q.No: 100 When did earthquake occur in Bhuj , Gujarat and is one of the most damaging intraplate earthquakes ever recorded in India

2472185
A, TORTd & HHY Fa {11 3R T8 HRA § 3 75 3o Tl IFERS Sgraie ol § 4 0 §:
26th January, 2001
A
26 T, 2001
26th January 2000
B
26 SFa 2000
12th febuary 1999
c
12 BRad 1999
6th march 1945
D

6 1 1945
Correct Ans : A

Subject : Environmental Study

Q.No: 101 To which one of the following types of vegetation does rubber belong to?

2472455
e Fufafad # & 59 TeR @1 g 3 9aiid 32
Tundra
A
=l
Himalayan
B
e
Tidal
C
iR
Tropical Evergreen
D

IUGeaeid R
Correct Ans : D

Subject : Environmental Study

Q.No: 102 What is marriage according to Hindu traditional belief?

2472603
g IRITd fawar & SFuR faarg @ g2
Sacraments
A
YRR
Customs
B
Sfafars
The union of two person
C
QY wafkmt &1 fore
D The union of two families
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<1 IRaRY &1 fraw

Correct Ans : A

Subject : Environmental Study

Q.No: 103 Which of the following region is famous for guls and kuls irrigation system for agricultural purposes?

2473152
e & A i A1 & HI yEisi & o T oIk et Ri=rg womelt & forg uive: 82
Coastal region
A
T &
Plateau region
B
TR &
Southern plains region
C
gt derh &
Western Himalayan region
D

ufge fewrerdt &

Correct Ans : D

Subject : Environmental Study

Q.No: 104 In which of the following places is the LPSC (Liquid Propulsion Systems Centre) Headquarters located?

2473874
.. a1 LpsC (Rifévs M Rien Hex) &1 gemay Fafafdd § 3 frg =M w Ry 82
Bengaluru
A
e
Thiruvananthapuram
B
ferparfager
Kozhikode
C
LaEiEa
Sriharikota
D
siieRarer

Correct Ans : B

Subject : Environmental Study

Q.No: 105 Who has created China‘s artificial moon?

2474107
9 B FHT dem e T |2
Li Ruilin
A
ot wafer
Christiaan Huygens
B
frfeam ggei
Annie Jump Cannon
Cc
i Siu dig
James Bradley
D
S Srset
Correct Ans : A
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Subject : Environmental Study

Q.No: 106 In which of the following countries did four Indian Air Force officers selected to be part of the Gaganyaan mission, completed training on crew actions in the event

2474175 of an abnormal descent module landing?

frofafed & 3 frg 331§ wHam fRE &1 R 379 & fau g7 T YRy 9 31 & 9R sieifdl 3 o ol Atsgw af$n @1 fRufa & 910 ga & Sl W nikie gu o for g2

USA
A

TG T AR

Russia
B

L3t

France
C

Wi

Canada
D

Eic)

Correct Ans : B

Subject : Environmental Study

Q.No: 107 In hard water, soap reacts with the (which is relatively high in hard water) to form “soap scum"

POR oA H g (S FoR oI & erend e Bl ) & Ty i F g A ST g

2475725
Aluminium
A
HefifRrm
Zinc
B
sl
Hydrogen
C
T
Calcium
D
fexrm

Correct Ans : D

Subject : Environmental Study

Q.No: 108 What is the name of the classical dance form of Andhra Pradesh?

2476411
it YR F GG T T I AW §?
Kathakali
A
PUTB
Lavni
B
GicEil
Kuchipudi
(o}
Pyt
Gambhira
D
TR

Correct Ans : C

Subject : Environmental Study
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Q.No: 109 Lezim is the folk dance of which state?

2476423
AR o o 1 9% T 82
Kerala
A
I
Maharashtra
B
TR
Jharkhand
C
IRES
Chattisgarh
D

TG

Correct Ans : B

Subject : Environmental Study

Q.No: 110 How many times has MC Mary Kom won a gold medal in the World Championship?

2476478
. . A% F ot aR o IVTARY F wof vew i 22
4
A
4
8
B
8
6
c
2
D
2

Correct Ans : C

Subject : Environmental Study

Q.No: 111 How many players are there in a football team?

2476496
& Peara An #§ e et ia ¥
10
A
10
9
B
9
11
c
11
12
D
12

Correct Ans : C

Subject : Environmental Study

Q.No: 112 Which among the following was awarded to Mary Kom in 2009?
2476602
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Fafifed & S ISR 2009 § 3 FH 3 g mm ar

Arjuna Award

A
I TR
Rajiv Gandhi Khel Ratna Award
B
ECRE |
Dronacharya award
C
R GREPR
Maulana Abul Kalam Azad Trophy
D

T 3(ge HAH STIG BT
Correct Ans : B

Subject : Environmental Study

Q.No: 113 when students and teachers are together outside the classroom, new educational environments and experiences are possible. This statement is:
2477151

e B 3R Ree & & a6 T Y g 8, o ¢ I IIemaror $iR SgHa a B 1 T8 YA ¢

True, students can observe many things which are not available in classroom

A
98, o1 3¢ 99 3T TP § o wan F Iuee T ¥
False, because the students are not serious when out of class
B
1, it HaT Y TR T W o TR T A ¥
False, as there is no relation of going out with education
C
3T, e R o BT e § DI Galy 7 §
True, as teachers can teach only when they are outside the classroom
D

T B, RS Rier e & SR 9 W & 0T o &
Correct Ans : A

Subject : Environmental Study

Q.No: 114 Consider the statements given below

2477308
i. The expert teacher must plan various forms of discussions with much care.
ii. The students must make thorough preparations and work hard to make discussion a success.
Above mentioned statements are:
4 Ry e B W RER X
i ) fadiog Riers o sga Taur § i yeR @t Tafsl @t demr s @R
iyoE @1 Taf ) a1 F e gl TR FD 9k ok St fea St @i
FWR Il B §:
Limitation of group discussion
A
ofea ot dwel F ar 7
Objective of group discussion
B
oieEl & RWF WA
Tips of role playing
C
Wi R F RE F IR |
Tips of group discussion
D
i 9 & fevw F an A
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Correct Ans : A

Subject : Environmental Study

Q.No: 115 The structures made of which of the following materials are damaged by the Acid Rain?

2477852
Frafared # 3 e el § o SRemg sl aul & arfooa Sl €2
Stone only
A
P TR
Marble only
B
e TR
Both stone and marble
(o
TRR SR SRR G &
Neither stone nor marble
D

W TRR T TR
Correct Ans : C

Subject : Environmental Study

Q.No: 116 Which of the following natural phenomenon is not responsible for natural acidification of the environment?

2477865
Fafaed # 3 21 @ wiplae Te TR  uplie sreiau & fog Rrer T8 82
Formation of rainbow
A
U BT TS
Volcanic eruption
B
e fape
Lightning
C
foredt
Wildfires
D
SHTET Y 3T

Correct Ans : A

Subject : Environmental Study

Q.No: 117 Which of the following energies is trapped close to earth’s surface by the greenhouse effect?

2478014
e & ¥ FH-3 S gRa 6 THE I 3ft 1 Tag F Pee w9 9w 87
Sound
A
@y
Heat
B
i
Tidal
C
SaR
Electrical
D
forqa

Correct Ans : B

Subject : Environmental Study
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Q.No: 118 Which of the following are advantages of ICT in teaching?
2478594

1.Access to instant data

2.Creation of information for communication

Choose the correct code -

Rigfor 7 og. .21, & Fafdied § 4 o & @ g
1,71 el d Ugd

2.99R & fore g &1 fAmfor

6 PIS T -

Only 1

Fad 1
Only 2

Faa 2
Both 1 and 2

M 1 3R 2

Neither 1 nor 2

AL eRIN 2

Correct Ans : C

Subject : Environmental Study

Q.No: 119 Which of the following comes under Hardware of Teaching Aids?
2478614

fofifaa & -1 e Teas Il $ FIR IUNH (FIEAW) F SR o 82

Charts
A
Ll
Graphs
B
i
Projector
(o}
PIEC
Mind Maps
D
S A

Correct Ans : €

Subject : Environmental Study

Q.No: 120 Which of the following sections of the RTE Act makes ‘physical punishment’ and ‘mental harassment’ punishable offences?

2478666
Rren &1 R sHffm @t Fufafed & § oF @ «r1 IRRE <8 iR TARE Idis o <e- STy F0 82
17(1)
A
17(1)
17(2)
B
17(2)
18(1)
C
18(1)
D 18(2)
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18(2)

Correct Ans : B

Subject : Environmental Study

Q.No: 121 Sex of the foetus is determined during

2473592
0T BT R RERT v, F dRE T B
period of Foetus
A
M & GRM
period of embroyo
B
WORBTE & SR
The time of Conception
[o}
MR & ¥
The time of birth
D

5 &
Correct Ans : C

Subject : Child Developement

Q.No: 122 The stages of language development are

2473607
HTOT T B SR oo 3l
Four
A
10
Three
B
Gi
Six
C
EH
Five
D
T

Correct Ans : A

Subject : Child Developement

Q.No: 123 A student’s chronological age is 10 years and mental age is 12 years, his IQ will be
2473779

o faendf 3t arafaw omg 10 o v ARG oy 12 99 § I9E! g - afs gnft

80
A

80

100
B

100

120
[

120

140
D

140

Correct Ans : C
https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 34/43
Page - 34



lticlice, 9.1 "Wl o gihpypel.LCAdilio. LUNTIVIE T LD wallld_JUUjcLUUlion L 7vim 1 aldliiivipatici/iritial_ivViIVUTI_AlIoWwEl.dopyA

Subject : Child Developement

Q.No: 124 Distracters are used in ........ type questions
2474520

fafRia o7 il BT TG ....... THR S weh & fopan e

essay
A
ey
alternative
B
Eeatcy
multiple-choice
C
gfasedt
matching
D
o

Correct Ans : A
Subject : Child Developement

Q.No: 125 If a teacher does not know the answer to a question asked by a student what he should do?

2474613
Tfe; g H el SH ERT T T 9% $T IR Tl UaT ¢ o I TN BT ARW?
Give a wrong answer to the students
A
B P 7T IR §
Admit his ignorance
B
TR ST B WBR B
put off by promising to tell the next day
Cc
3T o7 T B ATeT e T &
Snub the student
D

B BT 3OHN Y
Correct Ans : B

Subject : Child Developement

Q.No: 126 1B Watson defined ‘psychology’ as the science of

2475319
B deHT A 'HAfaRE F b fawm & w0 § il
Soul
A
ST
behavior
B
AR
Mind
Cc
ksl
consciousness
D

ool
Correct Ans : B
Subject : Child Developement
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Q.No: 127 A student of V class with ‘visual deficiency’ should be
2476144

‘fager SR’ | 7% v F&1 & B 3

excused to do a lower level of work

A
8 ¥R % ol i =iy
helped in routine work by parents and friends
B
FE Tl # Arar-far ohe el @1 weg e =ifee
treated normally in the classroom and provided support through audio CDs
c
el ¥ WHF T Y SaeR R S ey SR offsdr Wi & Sy wedm fn Wi =Ry
given special treatment in the classroom
D

el # Iy sagR fan s =en

Correct Ans : C

Subject : Child Developement

Q.No: 128 Children form poor homes but small family size still have the chance to get better environment for growth because they are likely to face less than children from poor
2476689 homes but large family size.

T TR | S § AP B uRAR F urg onedt oft R & 0 v st arararvl UM &1 Wit § Rl 9% TR IRaR F o= 31 go § 8 AP 93 IRaR &1 §EA1 S ugd )

Sanitary conditions

A
o R
Happy parents
B
g Ar-foar
Peaceful conditions
C
rifergel Rufy
Impoverished conditions
D

WY BT
Correct Ans : D

Subject : Child Developement

Q.No: 129 Which of the following statement/s regarding the process of maturation is/are not true?
2476852 . A y . .
1. It describes changes that are relatively independent of the environmental influence .
2. It is assumed to be unrelated to the influence of heredity.
Choose the correct code:

IRYFIdT hr IihaTd: Gaer & Rrafof@d # F Sl a1 Foe Tcd 761 /6?2
1. I 3o IR T qUTeT FIATH AT TATRONT T871a & IYaThd TTaA S |
2. Ig T Aehdl & Ya7Td I 3o Al AT g

T T
Only 1
A
Fae 1
Only 2
B
a2
Neither 1 nor 2
C
T aiRAd 2
D Both 1 and 2
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Ml 1 ek 2

Correct Ans : B

Subject : Child Developement

Q.No: 130 Which of the following doesn't play a significant role in motivation in education?

2476953
Rian # Frofafead & 3 1 fiRon § Aeaqul e T8t fm g2
Objectives of learning
A
P & TR
Rewards and punishment
B
W SR e
Level of aspiration
C
ST BT TR
Level of appetite for food
D

WM & forg @ 1 ®R

Correct Ans : D

Subject : Child Developement

Q.No: 131 Sometimes a child can commit crimes during pubescent age under the absence of proper guidance due to development of sexual features. Which of the following
2477667 causes can this crime be classified under?

Ff-Fft vF IR I fARwael ¥ e F R SRid arfex & sua § AT & SR SRy IR ISl ¢ Fukied § 3 5 $R S 39 iy B Figa e o wear 82

Individual causes of juvenile delinquency

A
IR S(RTY & SR PrRUT
Psychological causes of juvenile delinquency
B
fPRIR 3fRTY & TS SR
Social causes of juvenile delinquency
C
IR 3Ty & AT HRO
Economic causes of juvenile delinquency
D

PR 3Ry ¥ offe BRor

Correct Ans : A

Subject : Child Developement

Q.No: 132 Which of the following has prescribed, “A wide range of recreational facilities and services of particular interest to young persons should be established and made
2477752 easily accessible to them”?

Fofafed & 3 fraa RufRa fea 8, ga sfdad & R ke 3 ot aeRes glawmsh ok Jaiel 1 ' kg e wifd & I 91T ofR 3% St & gau s-m s 9ifee”?

Berlin Guidelines

A
sfef femnfadwr
Riyadh Guidelines
B
e iCACRIRER
New York Guidelines
C
i e
D Geneva Guidelines
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Correct Ans : B

Subject : Child Developement

Q.No: 133 As per the Juvenile Justice (Care and Protection of Children) Act, 2015, within what period should a child alleged to be in conflict with law apprehended by the police
2477759 pe produced before the Juvenile Justice Board?

iR = (S Bt T@UTe SR TReOn) iR, 2015 F SER, YR GRT UHS T S & I ST ARIY TF J17 g $I {59 ol F ik 5wk =ma §1€ & amey Iy fowar sm
RT?

Twenty-four hours of apprehending the child excluding the time necessary for the journey

A

I & Y ST T Bl DI 7 ) TS & diag 9

Twenty-four hours of apprehending the child including the time necessary for the journey
B

I & fIT SMawas Y Wied o= I UHSA & d6g 6

Twenty-four hours of the alleged violation of law by the child, excluding the time necessary for the journey
C

IE1 & T A<D THY B BISIR, T8 GRI S S A Ieoit S adig 6

Twenty-four hours of the alleged violation of law by the child, including the time necessary for the journey
D

T & AT SMawae HY WiRd 9= R ST & HId Seid & ded be
Correct Ans : A

Subject : Child Developement

Q.No: 134 In view of the need of Inclusive education, which of the following is NOT a correct statement?

2478069
TuaRh e 3 snaRawd B 30 g, FEid § 3 S a1 $u e 76 82
All children have the right to learn together
A
ot S &1 T W W F SR §
The children can be discriminated because of their learning ability
B
s F I W B e F PROT AgHTT AT o S §
The children should not be discriminated because of their social background
C
Tl B ST WIS UoBYA & HRUr Yaurd T far ST =nfey
It is the right of every child to get education
D

RIe U1 AT TR I BT DR §

Correct Ans : B

Subject : Child Developement

Q.No: 135 As per the RTE Act, 2009, a child will complete elementary education up to Class

2478151
SRS SHffEE, 2009 F STER, TH T Taf % IR e gft S
XII
A
XII
X
B
X
IX
C
X
VIII
D
vIII
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Correct Ans : D

Subject : Child Developement

Q.No: 136 With the great shift from the term ‘Disabled’ to ‘special ability’, the most widely used term in the education system is -------------==-------- i

2478395
TapaT g F ALY Frgar # €8 geard & Y, gt Yol § Y A0S U XA 15GT S 16 Vg ----=----==--=-==-n=mm= gl
Inclusion
A
AT
Induction
B
W
Integration
C
TR
Special school
D

oy faemera

Correct Ans : A

Subject : Child Developement

Q.No: 137 Which of the following is the fundamental problem of the secondary socialisation?

2478928

75 7 3 P fedtae aaelieor $t gy THe 32

That it must deal with an already formed self.
A

& 32 vgat & 7f3a W ¥ Fuew Tfew

That it ignores the already formed self.
B

5 g5 wed I 3w W 3 e FRar B

That it is not responsible for the development formation in primary socialisation
C

e e & fawr e & g 7 Rer ¢ 8

That it is less dependent on the larger societal development.
D

& 7 98 Imiie e R F R 81

Correct Ans : A

Subject : Child Developement

Q.No: 138 Which of the following is the contribution of Ivan Pavlov's to the development of Child psychology?

2479203
[ A P [T # 39 Uadie 1 Fafifad § § S @ deE 82
The Theory of Classical Conditioning
A
FRIT Sigee Rigia
The Theory of Cognitive Development
B
e e Risr
The Theory of Ecological System
C
ftRufet o Rigia
Theory of Socio-cultural Learning
D

Correct Ans : A

Subject : Child Developement
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Q.No: 139 According to Guilford's theory, the dimension of operation can be further subdivided into how many parts?
2479730

RIS GRT WIS T TfowaT (STRR) F omam &1 3R fa uril & R fan o1 wavar 2

2
A

2

3
B

3
C

4
D

5

Correct Ans : D

Subject : Child Developement

Q.No: 140 Who among the following developed the structure-of-intellect (SI) model?

2479841
e @ A e o Alsw P gia 1 W= (SI) Tfoey 7 f&ar?
L.L. Thurstone
A
LI >
Charles Spearman
B
e R
J.P Guilford
C
9.1 freeis
Robert Sternberg
D
e welat

Correct Ans : C

Subject : Child Developement

Q.No: 141 As the threatis removedthe _____ system gets active and restores the balance by calming the body.
2479991
e WRT < W § a9 & Wcha 2 W T A 0 A P R IRR Y i el B
Sympathetic
A
bt
Parasympathetic
B
TRIgh
Both sympathetic and parasympathetic
Cc
St iR TR St
Neither sympathetic nor parasympathetic
D

A4 argabdt o) 7 & wRigadt
Correct Ans : B

Subject : Child Developement

Q.No: 142 Which of the following learning curve represents the rate of learning which is faster at the start but decreases with the progress of learning time.
2480142
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e & F SF-1 e o e B R 3 oIl €, S Yo F O St § A Sf T F e ity & W vt ot 1

Linear acceleration

A

s =

Positive acceleration
B

TS RO

Negative acceleration
C

BUNHD &R0

S-shaped curve
D

S-3{THR Il 96
Correct Ans : C

Subject : Child Developement

Q.No: 143 Blue is for boys and pink is for girl- this statement reflects

2480146
e &1 wgw! & g § oK ot ST osfEd F k- e i@
Gender-awareness
A
RiT-SIPREa
Gender-stereotyping
B
fetr-wfgaga
Gender-inequality
C
foTT- ST
Gender- sensibility
D

Correct Ans : B

Subject : Child Developement

Q.No: 144 School based evaluation provides opportunities to teachers to know the following about their learners except

2480219

T sneniva geaie et B1 31 el & ar & Fafifed 7 & sEw Jer S ¢ e

What they learn?
A

3 T e €2

Why they learn?
B

3 =it drd B2

How they learn?
o

359 da B2

What they think?
D

I EE &2
Correct Ans : B

Subject : Child Developement

Q.No: 145 Assessments in which of the following is done based on indicators of checklists?
2480239

Frafafed # 3 frad Sifa T & Ihas! F SR W Geaid/ e a1 S §2
A Life skills
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o B
Subject

s

Values

el

Attitudes

AeR
Correct Ans : A

Subject : Child Developement

Q.No: 146 Which test is used for measurement of personality of an individual

2480715
fareft afet & aafda & w0 & e v wrlerr &1 v fasan s @
Rorschach test
A
e war
Stanford binet test
B
WAWS e wdeor
Welchsler binet test
C
e fre e
Baylay scale
D

e wa

Correct Ans : A

Subject : Child Developement

Q.No: 147 Which of the following ways is a suitable way to teach talented children learn?

2480725
Fofafea wie! # § 19 a1 wie! iRl 9= 1 9eH %1 9ad I9gHE WP 87
Giving them the responsibility of teaching other children
A
I 3 Tl Y UG P FOFHART ST
Giving extra time to them
B
TR sifolad v &
Reprimanding them often for being restless
Cc
T offtr e 3 Se
Engage him or her in a work, which he or she is interested in
D

T DI SUH T S P F K G

Correct Ans : D

Subject : Child Developement

Q.No: 148 A motivated child does not show which of the following characteristic?
2480786

TP Ui w5 e 7 § 1 a1 e Y qit 87

Willingness to learn

W &t g1

B Involvement in learning

https://mppeb.cbexams.com/MPPEB_Cand_Objections/TET/MPTET_adminpanel/Final_Model_Answer.aspx 42/43
Page - 42



lticlice, 9.1 "Wl o gihpypel.LCAdilio. LUNTIVIE T LD wallld_JUUjcLUUlion L 7vim 1 aldliiivipatici/iritial_ivViIVUTI_AlIoWwEl.dopyA

e & gguifira

Level of aspiration
Cc

TETPIYT BT &R

Isolated from the group
D

E ¥ T
Correct Ans : D

Subject : Child Developement

Q.No: 149 The type of learning that does not immediately present itself, but can be called upon when useful is-
2480846

R &1 YR W Ga B URGA Tal Bl &, Al SATaRacar TR IHNT fobar S Tl §-

Insightful Learning

A
Ry aiftem
Latent Learning
B
afafifee st
Cognitive Learning
C
TIFARTS Ry
Trail and Error Learning
D

o SR 4@ SRR
Correct Ans : B

Subject : Child Developement

Q.No: 150 For the language development of child it is important to

2480866

= & uml i F R 78 e 3

give them opportunities express their thoughts
A

TR I AR B e HRA BT AT I TR

activities should be organized the developing language skills
B

UTST P} ST B TeH o Il SRR F TRy

give practice to writing, reading, speaking and listening
C

AGH, SHUTE T4 a0 F RIY T e AT

All of the given options
D

fag g it fage

Correct Ans : D

Subject : Child Developement
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